2
o

ApTUKYN

HanmeHoBaHue

Kon

laika M8

KC55-10

WapHup

larka M8

KC26-04A

Tara

larika M8

LLlanb6a 8x22x2

KC30-05A

MnactmHa

bont M8x55

kDOO\lO'\U’l-bUJNI—\l

Bont M6x16

10 |[KC30A-04A

KoXyx pemHsa

11 |[KC30A-07A

OrpaHuuuTenb pemHs

Bont M8x20

NNk R Rr[RrIN[RR|RIRIR[R]IR[NM|IR(RlodINM|A|VR (R ]|R o

13 |KC42A-03 Lednexktop B cbope
14 |KC55-24 JlonaTka
15 |KC55-15 LWainba
16 |KC26-11 Apantep
17 [KC26-14 LLlecTepHAa yepBAYHaA
18 |KC26-12 Ban
19 [KC26-15 ApanTtep
20 Wrnot 3x18
21 |KC26-13 Konbuo aednekrtopa
22 [KC26-10 KpoHLwTenH
23 LWalba
24 BMHT M6x16
25 [KC55-23 dukcatop aedpnexktopa
26 |4LXP945 PemeHb 4LXP945
27 |KC30A-08 MpoknaaKa
Mogenb
CHeroybopuuk ST1387LET
Technical department Assembly drawing

Engineer, chief designer

John Emerson Jr.

DYNAMIC DRIVE EQUIPMENT, USA

Page 1




)
)

41

@
®
0
B
(3

/1

42

—®

48

Ne ApTUKYN HanmeHoBaHue Kon
1 |KC30-03A-01R [Pyyka npasas

2 |KC30-03-02 (MaHenb ynpaBneHua
3 Manka M8

4 LWanba 8x22x2

5 |KC30-03-03A |KpOHLWTENH NPYKUHbI
6 bont M8x40

7 |[KCM24-03C ([Tpocuk

8 bont M8x35

9 WnauHT 1.5%25

10 |KC30-03-09 [Pblvar xoga

11 Maiika M10

12 |KC30-03-2(M4)

PykoAaTKa pe3nHoBan

13 |KC30-03-11GGP

Pblyar ynpasneHus

14 |KC55-03-15

LWalnba pesmHoBan

15 [KC55-03-17 ([py*KnHa

16 |KC30-03-12A [Pblyar npasbliit
17 LWalba

18 bont M8x150
19 [KC55-03-12 (Cronop

20 |KC55-03-23 |3axum

21 |KC55-03-25A |TonkaTenb
22 |KC55-03-13A [TonkaTennb
23 |KC55-03-11 [Mpy»KunHa

24 BHT M8x60
25 3aknenka 4x10

26 |KC90-04-04A

PyKosiTKa c nogorpesom

27 [KC30-03-13A

Pbluar nesblit

RrIN|RINRINIR RPN IRINIRINIRIR NN IRININIRINR 0] - -

28 |KC55-03-05-6 |[BTynKa
29 |KC30-03-14 [Mposog
30 |HY64 Bbikntoyatenb
31 [KC30A-05-4 |Tpoc
Mogenb
CHeroy6opmK
yoopti ST1387LET

Technical department Assembly drawing
Engineer, chief designer John Emerson Jr.
DYNAMIC DRIVE EQUIPMENT, USA Page 2




)
)

41

@
®
0
B
(3

/1

42

—®

48

Ne ApTUKYN HanmeHoBaHue Kon
32 |[KCD26-06-2 |Mpy»KuHa 1
33 BuHT M5%35 2
34 |[KC30-03-08 |Pbiyar BkAtoueHMa auddepeHumana 1
35 Malika M6 1
36 Waiiba 6 1
37 bont 1
38 |KC30-03-05 |KpOoHLWTEWNH pblyara 1
39 [KC30-02-06A [Tpocuk anddepeHumana 1
40 [KCA34-03-02 [Py4yka 1
41 |KC30-03A-01L|Py4yka neBas 1
42 |KC30-03-22A |Mpusopg aedneKkropa 2
43 BuHT M6%10 2
44 LWaiba 2
45 |KC30-03-24 |MaHenb 1
46 Bont M6x16 2
47 |KC30-03-26 [KpblwkKa 1
48 laka M6 2
49 [KC21-03-15 [PoHapb LED 1
50 BuHT ST3.5x16-F 2
Mogenb
CHeroybopuuk ST1387LET
Technical department Assembly drawing

Engineer, chief designer John Emerson Jr.
DYNAMIC DRIVE EQUIPMENT, USA Page 3




Ne ApTUKYN HanmeHoBaHue Kon
1 |KC90-02-21A |Pyuka 1
2 [KC55-02-25A [[MnhacTtnHa pyyKkn 2
3 bont M10x45 1
4 bont M6x12 4
5 |KC55-02-40 |Ban 2
6 |[KC30A-02T-01 |KpblwkKa 1
7 bont M6x20 1
8 [KCM24-02C-19 |KpOHLUTENH pOaMKa 1
9 |KC21-02-2 BTynka 1
10 |KC21-02C-01 [Tpocuk 1
11 |KC40-28 Ponuk 1
12 Faka M6 1
13 [KC30A-02-02 (Adetanb coeanHuTenbHas 4
14 bont M8x20 2
15 bont M8x40 4
16 |KC21-02C-03 [OcHoBaHue gsuratens 1
17 laka M8 4
18 |LC185FDS [suratenb Loncin LC185FDS 1
19 |3LXP870 PemeHb 3LXP870 1
20 |KC30A-02-03 |Wkus 1
21 [KC90-02-16 |WkuB 1
22 LWaliba 1
23 [6561-03-18 |bonT M8x30 1
24 |KC30A-02-04A|Kopnyc TpaHcmmccum 1
25 bont M6x20 2
26 |KC30-02-12 |HakOHe4HMK 1
27 |KC90-02-07 |[BTynka nnactukosas 2
28 [KC30A-02T-02 |KpbiwkKa 1
29 |KC55-02-05 |[Tdra 1
30 bont M6x16 13
31 |KC30A-02-05 [Kopnyc nogwunHuKa 2
Mogenb
CHeroybopuuk ST1387LET
Technical department Assembly drawing
Engineer, chief designer John Emerson Jr.
DYNAMIC DRIVE EQUIPMENT, USA Page 4




ApTUKYN

HanmeHoBaHue

Kon

32

90-0415

NogwunnHmk 6200

33

Konbuo CTONopHOe

34

KC21-02-13

MogwnnHuk

35

KC30A-02-06

BTynka 15x20x15

36

KC21-02-12B

JepKaTenb Ancka GpUKUMOHHOrO

37

KC30A-02-07

LWecTepHa

38

KC21-02-11A

[NCK GPUKLMOHHDIN

39

KC30A-02-08

BTynka 15x20x15

40

KC55-29

Cronop

41

KC30A-02-9

Ban wecTurpaHHbIi

42

KC30A-02-10-2

Ban npomeKyToYHbIi

43

KC30A-02-10-1

3Be3a04Kka 6obluas

44

KC30A-02-11

3Be3g04Ka manas

45

KC30A-02-12

BTynka 12x15x8

46

085-32

Lenb 085-32

RlIRrlRr|Rr[Rr|R[RrR[Rr]|R[R]R|R[~]>

CHeroybopLmK

Mogenb

ST1387LET

Technical department

Assembly drawing

Engineer, chief designer

John Emerson Jr.

DYNAMIC DRIVE EQUIPMENT, USA

Page 5




ApTUKYN

HanmeHoBaHue

Kon

47

KC30-02-16A

BTynka

48

bont M6x16

49

KC90-02-11

Kopnyc noawmnHumka

50

laka M8

51

6205

MogwnnHuk 6205

52

KC30A-02-14

BTynka 25x34x16

53

KC30A-02-15

OuddepeHuman B cbope

54

KC30A-02-16

Ban

55

LLInoHKa 6x4x45

56

KC30A-02-17

BTynka 6poH30Bas

57

KC30A-02-18

Bunka

58

KC30-02-07

XpanosuK

59

KC30-02-05

Mpy*nHa

60

KC30-02-06A

Tpocuk anddepeHupana

61

KC30A-02-19

BTy/nka 6poH30Ban

62

KC30A-02-20

Ban

63

KCM24-02C-18

HaKoHe4YHUK

64

LWarnba

65

LWarnba

66

KC21-02C-09

dukcartop

67

bont M8x30

68

KC55-02-21

Ponuk HaTtaxkutensa

69

KC30A-02A-4

KpOHLWTeNH HaTsxutens

70

bont M8x45

71

KC30A-02A-05

KpOHLITEMH HaTaxutens

72

KC55-01-24

BTynka

73

KC55-01-27

Ponuk nHaTtaxkutensa

74

KC55-01-26

LWaiba

75

KC21-02C-13

LLkne

76

Bont M6x20

77

KC90-02-12

Kopnyc noglmnHuka

(SN UV RNy RNy RN FIRQY FEENS FEENN [ EEVN JECNY FEEN FEEN) FUENY JEEN) JEEN) JEENY RN FEEN) JEENY UV FEEN) FEENY Q) VY FEENY FERS IO VG I ORI I NG

CHeroybopLmK

Mogenb

ST1387LET

Technical department

Asse

mbly drawing

Engineer, chief designer

John Emers

onlr.

DYNAMIC DRIVE EQUIPMENT, USA

P

age 6




ApTUKYN

HanmeHoBaHue

Kon

78

90-0430

NogwnnHmk 6002

79

KC90-02-15

MpyXKKUHa HaTAXRUTENS

80

KC30A-02-23

KpOHLWTENH LWKMBA

81

KC30A-02-24

BTynka 13x20x20

82

Bont M8x16

83

larka M12

84

KC21-02C-12

MpyXKUHa HaTAXKUTENS

85

3aknenka 4x12

86

KC30A-02-25

MnactuHa

87

KC30A-02-26A

KpbIWwKa HUXKHAA

88

KC30A-02-27

[leTtanb KpenaeHua

89

Wrnot 1.5%25

90

KC21-02C-17

Mpy*nHa

91

KC90-02-31

Ocb

RIR[RrIRr[(Rr|R[NM]RRIN]R R ]RN

CHeroybopLmK

Mogenb

ST1387LET

Technical department

Asse

mbly drawing

Engineer, chief designer

John Emers

onlr.

DYNAMIC DRIVE EQUIPMENT, USA

P

age 7




ApTUKYN HanmeHoBaHue Kon
KCA34-01-01 (Aeka 1
KC26-01-02 |M0/1030K NAaCTUKOBbIN 2

LWaiba 4

Malika M8 16
KCA34-01-10 [M0/s1030K MeTanANYyecKknia

laka M8

bont M8x18

bont M8x16

KC30-01-02

MnactmHa gexkun

KC42-01-05A

KpbilWwKa nogwmnHmKa

SB205

MNogwwnnHuk SB205

KC42-01-04A

Kopnyc nogwnnHuKa

KCA34-01-02

LLIHeK npaBblit

LWanba

3arnyuwka

KCA34-01-03

MpobkKa

KCA34-01-04

bonT cpe3Hom 8x42

KCA34-01-05

PeaykTtop

laka M6

LWanba

KCA34-01-06

KpblnbyaTka

Bont M6x40

bont M6x30

KCA34-01-07R

KpoHLWTENH NpaBblIii

KCA34-01-07L

KpOHLUTENH NeBbIi

KCA34-01-08

LLHeK neBbin

LLlan6a

Bonat M8x20

bont M8x20

Bont M8x25

BuHT ST4.2x9.5-F

NI IRININIRPIRIRININIRIA|IPDIRINININIAIRINININ|([RP|OY|00|O]|N

CHeroybopLmK

Mogenb

ST1387LET

Asse

Technical department

mbly drawing

Engineer, chief designer

John Emerson Jr.

DYNAMIC DRIVE EQUIPMENT, USA

Page 8




Ne ApTUKYN HanmeHoBaHue Kon
34 |[KC55-01-21 |[deprkaTenb n10NaTKK 1
35 |KC42-01-20 [Kopnyc nogwunHuKa 2
36 |SB204 MogwwnnHuk SB204 1
37 |KC42-01-22 |Wkus 1
38 LWaiba 1
39 bont M10x25 1
40 LLnoHKa 6x20 1
41 [KCA34-01-09 (Wanba nnactnkosas 2

Mogenb

CHeroy6opmK

yoopiy ST1387LET

Technical department Assembly drawing

Engineer, chief designer

John Emerson Jr.

DYNAMIC DRIVE EQUIPMENT, USA

Page 9




Ne ApTUKYN HanmeHoBaHue Kon
1 |KC42A-03A-1A |JednekTop 1
2 [KC55-03-17 [Mpy*KuHa 1
3 [KC30A-05-2 [Mpy»kuHa 1
4 |KC30A-05-4 |Tpocuk 1
6 |KC30A-05-3 [Tara 1
12 Kosbipek 1
13 LWanba 1
14 [KC42A-03-4 (PeweTka 3aWwmTHaA 1
15 LWanba 1
16 WnanHT 2x16 1
Mogenb
CHeroybopuuk ST1387LET
Technical department Assembly drawing

Engineer, chief designer

John Emerson Jr.

DYNAMIC DRIVE EQUIPMENT, USA

Page 10




